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Al 1,163,447
Ol EOHE 512,860 500,575 12,285
=g N2 240,000 264,000 24,000
301 LEIE NS 240,000 264,000 24,000
02 A2 EH LGS (FHAAS, NWE) 240,000 0 240,000
Od+=¢g N& 40,0002 x500F < 122 240,000
skE=g 2 6.000 12,000 26,000
301 EtE N = 6,000 12,000 26,000
02 A2 A LGS (FHAAHS, NSWE) 6,000 0 6,000
osz4g A 50,0008+ 102+ 128 6,000
SHe SXsH 74,880 60,000 14,880
301 Eet2 NS 74,880 60,000 14,880
02 MBI BEXAHS(FDS, NLTHe) 74,880 0 74,830
o=l HASE N
6003 x520E 202 * 122 74,880
COEM AR 191,980 164,575 27,405
307 glztol & 191,980 164,575 27,405
11 AMEISXAEEES 191,980 164,575 27,405
OEHAILIOILE 23 42,920,000& 42,920
osskolls 249 35,380,000& 35,380
OHOILEEL0UE 2
42,920,000 42,920
CEE EIVEREE
35,380,000& 35,380
osTseYNs 23 3,380,000 3,380
Hetot S LRI SXAAE HS 692,587 492,317 200,270
=S 42,000
Al 650,587
2 AF 2+ 382,838 309,593 73,245
401 A2 HIZL R 0HbI 112,691 82,348 30,343
01 Al&HI 112,691 82,348 30,343
ONARAS F2Y N4
56,000,000 56,000
OS¢ SHBRY HEH(AHTY %
HII=2HE WH) 4,160,000 * 100 2 4,160
OIS SHFRY N (EaRL)
1,640,0002 *10H 2 1,640
O=lies SFRY HEL(AHT % =
de 5) 10,000,000 * 1904 10,000
O=lies HEZRY He(sEass)
2,580,000 * 104 2= 2,580




=M BET FoI=X D
B AT BI|H LEME BE
Chol: BOHSID BIRE L0100 XA RIB (Shol: % 2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OJEs Z2NI2Y N2 4= (=i A)
1,370,000 & *1JH 2 1,370
OBTEHE SAEHARY NP4 (43
CH Xl) 3,613,000 * 104 £ 3,613
OSLHE ALARY WA (USTM)
2,904,000 * 170 2 2,904
O2Y25yE FHEZY MEX(EEUA)
2,409,000 *1J1 A& 2,409
OLMIES SLEZ2Y NE(THHud L
I8 4) 4,600,000& *1JH 4~ 4,600
OLAM1IE =8Z2Y ME(SHHLA)
2,500,000& * 170 2 2,500
OZAIS MSUHIEZY JHE4 (821
% U oEEFOILE| S)
7,400,000 =10 A 7,400
OUME AWITZRY N (YL &
QM) 8,965,000 *1JH A& 8,965
OAIIUNMFZH HEAM NES
470,000 x5 2~ 2,350
OIIAMEZ SREEAM HE>
220,000 3 #1090 2 2,200
402 QI2E X201 A 270,147 227,245 42,902
01 QIZEXH2 A 2 2 (RERITH &) 270,147 227,245 42,902
OeRIARAZE H2Y HWES
83,800,000& 88,800
OBEZE 22Y SFA HFET0| &X
170,000 1544 26,180
0Qss 2T4lE=Y MES(oEE Y
AW AH) 7,447 0002 * 10 & 7,447
02ss AF2elEEY WE(HHES Y
L2t X, LEDSA)
3,413,000 *1JH 2 3,413
0O2LEE HHZIEZY MES (AR M)
2,503,000 * 170 2 2,503
0Es 283%2E=Y NEX(GEASS)
2,486,000 *1J1 A& 2,486
OZUH gHze|d2Y e (&EL AT
o« =HEEX S)
8,525,000 10 2 8,525
OZUH AleHe|Z2Y WE(SoHEE Y
AJHUH S) 5,115,000& * 104 2 5115
OZUH Cieteeld=2Y NE (o &E, Al
AUWH & Xttt Ex1 S)
9,674,000 *1J1 A 9,674
OZUH 2IEZY NE (o=, AT
oA ¥ stEalEs)
9,625,000 *1JH 2 9,625
OZUH MiHelZ2Y HE-(AIAT 2 &
A0 wAl) 2,420,000 10 2 2,420




SN BEP FOISXD
M A2USD EI|E CEME U
CHSl: BIOKSID BRE LOI0IF BRIAIL RSB (crol: 1)
SA - HE - BRA(3H) - HRAR - of v e HIDE2
020 DRESISMOTMEZZE N (
SHimA) 3,960,000 * 100 2 3,960
Ot 221232 HE (e, &
At & L=0H) 9,630,000 * 104 2 9,630
O 2MRIZ2Y HE=(SZHHLH)
1,210,0002 10 2 1,210
OSAD JjRIARY NP (R D)
2,200,000 * 100 2= 2,200
O2HESS MSHEBAOILESZY N
S (ZTnH) 1,890,000 100 A 1,890
O=U1s =81 XZ2E HEX(E
HH & B RI) 8,765,000& * 10 A 8,765
O=U1E 20SRLNZRY W2 (S
SESguiambs()) 7,808,000 * 104 2 7,808
SIS AIREOILERY KB (SHD
H) 2,662,000 100 2 2,662
O=1S SI=2HEH2XAZ 2 HE4=(SHH
wH) 3,960,000 * 104 2 3,960
OSUIE SILUAUARREY HES(CHE
EA) 3,878,000 * 104 2 3,878
O=U2s NEAZZY HE(ZHEE o
e [ mb:/) 5,000,002 17§ A 5,000
O=ies Br2ARY HB2(SHRH)
1,200,000& 10 2 1,200
O3 s HESZAZZ2Y HE(THiE T
b)) 3,168,002 10l 2 3,168
OJIAE BHHIZLISARY N (SR
T 3,568,000 * 104 2 3,568
OSY2EYS SSHNAANZZY HE+(H3
CHA) 3,157,002 17} 2 3,157
OUNIE MEARY HE2(SH) L LEDSD
) 4,510,000 * 100 2= 4,510
OUMIE BAARY HE2(AHEM U ©
IS A 1,543,0002 * 19 2 1,543
OLAIE HEARL W24 (FIIhE L &
ZEATA) 9,383,000 17H 4 9,383
OLAIE HISUEZRE 22 (2w
4,730,000 * 100 2 4,730
O2AN1S SHEZE N (aEaEs o
S A 3,088,002 10l 2 3,088
OYNIE BLH2Y H2H(AHTM)
1,859,000& 10 A 1,859
OUMRE ANAZL N4 (SHEE 2 A
AwA) 9,570,000 * 104 2 9,570
OFIIHHEZ SHEAL N2+
470,000%*67H3t 2,820
OIIAQINEY FHAIL L2
220,000%*203H_/t 4,400
Y AF WEX(EX) 42,000 0 42,000




SN BHT FOISTD
BB UGN BIIR LEME PN
Chl: TONSID FEB L0100 2XAL A2 (chol @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 42,000
401 AIEHIX 20 20,000 0 20,000
=S 20,000
01 Al&H| 20,000 0 20,000
OTK2E LIESEZ2Y JIS2LSA
20,000,000& 20,000
= 20,000
402 QI+ X201 & 22,000 0 22,000
= 22,000
02 RIENESASEZ(0IETHR) 22,000 0 22,000
OXK2s BSE2E JIsELSA
18,000,000 18,000
< 18,000
OZUE HoHe|BZ2Y HE+SA
4,000,000 4,000
[ 4,000
d2g FIIEAM & 2l 267,749 182,724 85,025
201 etz 3| 139,949 67,224 72,725
01 AtR2te|HI 139,949 67,224 72,725
0ARY HIQHHAA 242
105,000 *1657H 2 17,325
OBRY HHMSINABAL 242
46,2002 *1400H 2~ 6,468
OHIY HIEHA 242
50,0002 %1109 2 5,500
0ZRY YoALS 44
20,0003 x278H A-*42] 22,240
OTEY DIIFWI| RNl +42(F2,
ZEHA) 135,000 *532CH* 12 71,820
0FRY Ux2 16,59
OYMN2E sE2TZRY
500,000 * 122 6,000
O FolERY
583,000 122 6,99%
o381 F31hAgd=e
300,000 x 12 3,600
402 2I2F X201 & 127,800 115,500 12,300
01 RIENSASE X (XM THR) 127,800 115,500 12,300
I2Y US=SE 7,500,000& 7,500
02EE SHERIEZE =23 1,500
oo 1,500,000 *1CH 1,500
02&E 22|d2Y 23 1,500
Od&1 1,500,000 *1CH 1,500
02EE 2822F2E =23 300
OtAgelX 300,000 1CH 300




A EEF S0
M AAGID )X SME SF
Chel: HetGtD ASH LoI0I SXNAIE M3 (S &S
dET
S -3 - A(3H) - MISAHY - Oi &F2H 01"&0“ Hws2Z
|

oEs 2&62IEZ2YE

300,000 *1CH

300,000 »1CH

1,200,000 *1CH

300,000 »1CH

1,500,000 *1CH

1,500,000 *1CH

1,500,000& *1CH

OJpARX
025 2ESHHZSOIEZZS 2
=
oI
CEEERESHEEISEE
o
025 FWRIYZY 23
OJhAe
O CiARI2Y 23
o 1!
oAU SHHIRBEY BB
Owzn
O CIHRIREY 22
oIVE:
oYU BR6RABEY BB

o
OZUH 3221A2Y 23
o

O2LHH F212(BE)Z22Y

1,200,000 2CH

1,200,000 *1CH

) Z2Y 2=

ooulloizd

OZLY EAHERIBRY 23
ool

oZUH Z3ldzY 2Z
ow

OZUY HB1RIERY 23
odal

o=2uH Y=Y 22
oolloi=z4

O=4tH JIH12IBZ2E =23
Od&1

O2uH ie|Pd2Y E2
oolloi=24

O=s4H Z3ld2Y 2F
o
O&JIgE

Oos¢H SHCIEZ2E
odall
oolloizd

Os4aH AZ22|H2Y 2&
ool

O=s4tH Scl(Us)Z2Y

o
=25

1,500,000 *1CH

1,500,000 *1CH

1,200,000 *1CH

1,500,000 *1CH

1,500,000 *1CH

1,500,000 *1CH

1,500,000& *1CH

1,200,000 *1CH
300, 0003 »1CH

1,500,000 *1CH
1,500,000 *1CH

1,500,000 *1CH

300
300

300

300
1,200
1,200

300

300
1,500
1,500
1,500
1,500
1,500
1,500
2,400
2,400
1,200
1,200
1,500
1,500
1,500
1,500
1,200
1,200
1,500
1,500
1,500
1,500
1,500
1,500
1,500
1,500
1,500
1,200

300
3,000
1,500
1,500
1,500
1,500
1,500




sci7 Foi=x g
AASID EI|F LEME B
BoHot ) BHB LoI0IE SXAIE HS
RA - ZE - BRA(E1H) - HRAR - A
Od& 1,500,000& *1CH 1,500
O=4tH JIE4CIB 2 =3 300
O&JIgeE 300,000 = 1CH 300
O=24H FAHEZE 1,500
ooloA 1,500,000 *1CH 1,500
O=suH HEIRIEZE =23 1,500
oollo=A 1,500,000 *1CH 1,500
O=4tH /eI EZ2Y =5 2,700
ool 1,500,000& *1CH 1,500
o 1,200,000& *1CH 1,200
ozdbtss HEdzd 300
O&JIgeE 300,000 = 1CH 300
o=lis =8 1LX =3 1,500
Od&n 1,500,000& *1CH 1,500
osls SR32E =8 1,500
Ood&l 1,500,000 *1CH 1,500
o=t1s gx0tsta ZEHES 2,700
ool 1,500,000 *1CH 1,500
o 1,200,000& *1CH 1,200
o=l A=Y =23 3,000
Oodan 1,500,000 *1CH 1,500
oollo=A 1,500,000 «1CH 1,500
O=sl1s =0sEHNEZE =3 300
(@PJE=IDN 300,000 *1CH 300
O=l1s sSl=232E =2 1,200
O 1,200,000 *1CH 1,200
o=sl1s ==sUad=2E =23 1,500
ouloA 1,500,000 *1CH 1,500
O=l1s MEXNAANENNEZE =3 600
OJtAdX 300,000 *1CH 300
O&IIYeE 300,000 = 1CH 300
Oo=si1s MEXLEATZY =5 1,500
Od&l 1,500,000 *1CH 1,500
O=l1s HHEEOAZ 2 1,500
Oodan 1,500,000 «1CH 1,500
o=sts SUHSFMELISEZRY =28 1,200
o 1,200,000& *1CH 1,200
osl2s tEdsd =8 1,200
@ 1,200,000 *1CH 1,200
o=les S4E3ZY =23 1,500
Od&n 1,500,000& *1CH 1,500
OIIES B Eetisad =2 1,500




SN B FOISX D
HE: AUBD BIIF LEME PF
el Eetol BAES LI SXAIE MS (e A
- I
SA - B - SASH) - MSALY - ol &t e HIDSZ
oo 1,500,000 1CH 1,500
OJIE3s ZNB=Y =5 300
OodJlgeE 300,000 *1CH 300
OIIEB& IIBedrEZ2g =3 1,200
o 1,200,000 «1CH 1,200
OJIE3s Y82 =23 1,500
oo 1,500,000 «1CH 1,500
OJIEs IBUEABZY =3 300
(OFSPI-1S 300,000 1CH 300
osg1s d2g =3 300
OJtAdR 300,000 *1CH 300
Oo=%1s SAZZ2Y =25 3,000
odal 1,500,000 1CH 1,500
oo 1,500,000 1CH 1,500
O=g1s s8=dzd =3 1,800
oo 1,500,000 «1CH 1,500
OoxdJlgeE 300,000 *1CH 300
O=g2sds SY2EHIRY 23 4,500
oo 1,500,000 2CH 3,000
odail 1,500,000 *1CH 1,500
O03d2Ed=s £2d8=E =8 2,700
ool 1,500,000 *1CH 1,500
o 1,200,000 «1CH 1,200
O=382sds FHEZY =3 2,700
ouloA 1,500,000 «1CH 1,500
O 1,200,000 *1CH 1,200
O=g258 S ZRAEZE =2 300
(OFSPES 300,000 «1CH 300
OS85 s SYLCNEZY =3 3,000
oo 1,500, 0002 2CH 3,000
OS5 S SYHIUTNIZY =3 1,200
Oon 1,200,000 «1CH 1,200
O3g2sds FEOUEZZY =2 1,800
ouloA 1,500,000 «1CH 1,500
Oo&JlgeE 300,000 *1CH 300
OSH2EE S USOHIEZIZY =3 300
(OFSPIE=S 300,000 «1CH 300
OS85 s ZEZ2Y =3 3,000
odail 1,500,000 *1CH 1,500
ouloiz 1,500,000 *1CH 1,500
OTKN1S 2MISEZY 22 1,500
oo 1,500,00021CH 1,500




SN BET Fo=X D
BB UGN BIIR LEME PN
CHSl: BIOKSID BRE LOI0IF BRIAIL RSB CERL
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
OZAN1S HECILHLUOHHEHZY S 1,500
ouloA 1,500,000 = 1CH 1,500
OLMIs SHHIE=EY 22 1,500
ool 1,500,000 *1CH 1,500
OZANIS B8z 22 3,000
ouloA 1,500,000 *1CH 1,500
Od&En 1,500,000 = 1CH 1,500
OZMIEs MsUHIZEZ2Y 23 2,700
ool 1,500,000 *1CH 1,500
O 1,200,000& = 1CH 1,200
OZAN1IsS NsdzY =3 4,200
OulH&A 1,500,000 *1CH 1,500
Od&n 1,500,000 *1CH 1,500
O 1,200,000& =1CH 1,200
OZA 1S HIStHUSEZY =3 1,500
OulHA 1,500,000 = 1CH 1,500
O2AMIs Sd0lueld=2Y 23 1,500
ool 1,500,000 *1CH 1,500
OZAN1S HetdzE =23 1,500
ouloA 1,500,000 *1CH 1,500
OZMIES SHE2Y 22 1,500
OMlH&A 1,500,000 *1CH 1,500
OUNIS SH2XE =Y 22 1,200
o1V 1,200,000 *1CH 1,200
OZMIS HEOHIEHEZEY =2 3,000
OH&EN 1,500,000 *1CH 1,500
O 1,200,000 *1CH 1,200
(OrSPII=IE= 300,000+ 1CH 300
OZANIES =882Y =23 300
O&ED|grE 300,000 = 1CH 300
OZA1=S HIGHHZZHHILO0IIIERZE 2
= 300
(OrSPII=IE= 300,000+ 1CH 300
OZMNIS SHOHIEHEY =2 1,200
OTv 1,200,000 *1CH 1,200
OZANIES ALY 2Z 1,200
O 1,200,000 *1CH 1,200
OZAN2E ABIREZY 2 1,200
o1V 1,200,000& *1CH 1,200
OLN2s SE1FRE=Y 22 1,500
o1 1,200,000 *1CH 1,200
(OrSPII=IE= 300,000+ 1CH 300




SN BET Fo=X D
BB UGN BIIR LEME PN
Chl: TONSID FEB L0100 2XAL A2 (chol @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OBA2s NddzY 25 1,200
O 1,200,000 *1CH 1,200
OZ KNS 858248 =58 2,700
O 1,200,000 «2CH 2,400
OJtAdR 300,000 1CH 300
259 354 &% & 0ts=A s 3,012,270 3,170,040 157,770
JANE EFAIE JIBES 1,470 2,760 1,290
Oelold 3d & SAEL WS 1,270 2,460 21,190
201 et 3| 1,270 2,460 A1,190
01 AtR2tc|Hl 1,270 2,460 A1,190
OESAIE 2E & SAHL W= 1,270
Ou= i 6,000& *200% 1,200
O =8 M& 70,0002 *1H 70
20l s0IAIE = 200 300 2100
201 er23| 200 300 A100
02 S3=gHl 200 300 A100
OO01gl0l =0IAIE ey 28&
50,0002 #4042 200
258 A2l & s34 Hat 3,010,800 3,167,280 156,480
AMIE 22 K 1,638,000 1,782,000 144,000
301 2EN= 1,638,000 1,782,000 144,000
03 AL 2 & A 263 (X E) 1,638,000 0 1,638,000
OAMOle Xt Ots=Hl K&
150,000 %9102 * 122 1,638,000
Oelold ots2aidl X3 1,372,800 1,298,880 73,920
307 el2to| & 1,372,800 1,298,880 73,920
1 AMISXAEEXS 1,372,800 1,298,880 73,920
2F0ls 248 XA
6502 +8,000& x222 12 1,372,800
Ag=x21el SXsa 3,920 6.420 2,500
NASE deerd 2 3,920 6.420 22,500
SEHEXE 3,920 6.420 22,500
201 er2 3| 3,920 6.420 22,500
01 AtR2telHl 3,920 6,420 2,500
OFHYEFAH 3,920
OZE=S 10,0002 +250H 2,500
OZAHH 100,000 * 10H 1,000
Osl+=o 70,0002 +6H 420
HH2LIH(ELE T FU=A) 98,436 102,865 A4,429
Jl=23sl 98,436 102,865 N4,429
JI23Hl 98,436 102,865 N4, 429
201 et 3| 61,236 60,165 1,071




SN EHP Eol=X D
Hu: SYSAAY|(EST FOI=XD
&elr D=3l (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al22t2lH] 3,236 33,165 1,071
CPEEE RS TET] 500, 000215272} 13,500
oJIEZHI(22)
8,0003 x27 H+82* 12 20,736
02 S3=gHl 27,000 27,000 0
OfER=S 24,600
Oggt 4002 #2,000S+ 122 9,600
oSl 2,500 x5005+ 128 15,000
O3 EFUE ALBZ(AEIZX)
50,0003 x4CHx 122 2,400
202 04| 32,400 32,400
01 =LHOLI 32,400 32,400
OJ|=Z2H4l 20,0003 27 B+52 12 32,400
203 HR=&H] 4,800 4,800
M EA2HER=AH 4,800 4,800
OJIZEH(302!0l5t) 400,000&! 123 4,800
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SM: 2E7 MADEY
Hu: SYSAAY|(EST MYDED
el JI=2 3 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Jl=3H| 51,616 46,770 4,846
Jl=23H] 51,616 46,770 4,846
201 er23| 26,856 27,510 2654
01 At2teltl 19,716 21,210 A1,4%4
OJl=g 83| 500,000 *21 10,500
OJ1EZHI(=S&Hl)
8,000 x 122+ x 12 9,216
2 S22l 7,140 6,300 840
oORER=S 7,140
Ooggt 4003 +6E0S* 122 2,640
OSYI 2,500 1505+ 123 4,500
202 04| 14,400 14,400
01 2L A b 14,400 14,400
OJI=&H| 20,0003 x12H 52« 128 14,400
203 =] 4,860 4,860
M FA2HARFAI 4,860 4,860
OJ|=H 4,860
O302!0lct 400,000&! 123 4,800
O30Q! =1t 5,0008x1&* 122 60
405 KHAHF SH] 5,500 5,500
01 TR ESFSHI 5,500 5,500
OTX= AP 5,500,000 1CH 5,500




E 0 & AHE E A A

FA 8T MR
S KA 2el
el ZEst XA 2 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
EE7 MR 638,404 674,123 A35,719
KAl 2tel 550,156 563,721 213,565
atet N2AM =t 380,305 379,179 1,126
ANYA 2 & 22 380,305 379,179 1,126
201 fer= 3| 380,305 379,179 1,126
01 At 2|l 79,155 80,216 21,061
OXgN=FN FF =& 52,185
O&JIZ2 XA M £ =4 26,257
-SSYSIA OXAM M & =
77,0003 164 Xt 1,232
NS DM HE 2 £
77,0002 x1002f At 7,700
-MHARA XA M & £
77,0003 14024 Kt 10,780
-SOA DXA WA K EH
77,0003 854 A} 6,545
O=A22XA 77,0002 x3624 At 2,772
OXSIA S DXIM M L =
77,0003 4288 Xt 3,234
OXte 210X A 77,0003 604 At 4,620
OMI2l==& XA 77,0002 x368f At 2,772
OetE 6,930
-XIgAetg et
77,0002 »40& At 3,080
-UEE U2 77,0002 %3024 &t 2,310
-NSASH U E
77,0003 x20 48 X} 1,540
OHESEF M 1002 %40, 0000H 4,000
OoHsSsE M= 2003 =8, 0000H 1,600
OXNSHFL LR 22F Y 10,900
OZegH &4 220,0003 *40H 8,800
O=ALEX 21,0002 1004} Xt 2,100
OXIgAN &8 16,070
OXIZAME g2 elS3 M
2303 x55+5,0000H 5,750
OFJIzZ NgH gFet=
100&*20,0000H 2,000
Og=% 70,0003 %132/ x40 A 3,640
Oogzte 30,0003 %132/ * 110 A 4,290
OBl 30,0003 #1332 * 10 2 390
2 s5=34l 301,150 298,963
ORERS(FHI|, ALK AUE S) 294,500
oget 4002 555,000 222,000
OSII 2,5002%29,000& 72,500
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXNLASA 28 sS4 0122
100&*13,0002 1,300
(OFESES | EEINfa] 5,350
(@mE =Pl 22,389,000 *1CH*8% 1,792
OB K= A| 3,200, 0002 *2CH*8% 512
OS2 MM 2,300,000 *1CH*8% 184
ON =St 3,630,000 x1CH*8% 291
osadl 8,730,000 «1LH 8% 699
OfRel=gJ| 23,400,000 *1CH*8% 1,872
S50 HgH = 169,851 184,542 214,691
NLAl M =43t 169,851 184,542 14,691
201 er23| 139,851 154,542 14,691
01 At2tltl 40,599 40,290 309
OXNEA Mg+ A 33,889
OMEH IXM H& & =
77,0003 304 At 2,310
O==8 & & &4
77,0003+ 758 At 5,775
OMELUE & & &
77,0002 x 15245 Xt 11,704
otk etE 77,0002 x50 At 3,850
OBliXE ==& 600,000 5524 25% 8,250
Ossia & W HEX2 =8
2,000&+1,0002 2,000
OMgds g2=d 4223 2 5,430
OZgH &4 220,00024* 18K 3,960
O=AEX 21,0003 *70&} At 1,470
OMed S8 28 1,280
Osl+=o 70,0003 *22] x4 4 2 560
ogzra 30,0003 »23! x 1100 & 660
Ot 30,0003 %22 *10H A 60
02 E32g4l 99,252 114,252 /15,000
OoRERS(MLAUEZ, S5, 0102 S) 94,500
Oggt 4002 192,500 77,000
oSl 2,500&*7,0008 17,500
Ogxs ANEE AER
33,0008 «2CH* 122 792
OogisE HIAAY FXIZ4=H]
330,000 * 122 3,960
303 Za= 30,000 30,000
01 &= 30,000 30,000
(CFSEEASE 30,000
020208 = 0l 259,600,000 *5/100 12,980
Q20218 = 251,000, 000& *3/100 7,530
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&t s=He My H= (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
||| Ooeas 949,000,002 %1/ 100 9,490
HH2AZH (EHTPH2D) 88,248 110,402 £22,154
=2t 88,248 110,402 A22,154
Jl=2H| 88,248 110,402 A22,154
201 Yer2 | 33,448 32,502 856
01 Al 2| 33,448 3,502 856
oJl=YP4uAL| 500, 0002 5262 13,000
OJIEZHI(22HI)
80002126262« 122 19,968
UM BANLEG 32
60,0008 +4Z5+23] 480
202 01| 37,200 37,200
01 ZLHOIH| 25,200 25,200
CREET] 20,0002 +21 252 x 122 25,200
02 FAOiH| 12,000 12,000 0
OMLHZA+ SHO
200, 0002528 128 12,000
208 YL FAY| 4,800 4,800
VEREEEESS 4,800 4,800
©71F2(3021013) 400,0008 128 4,800
405 T S| 12,800 35,810 £23,010
01 THAILSEHSH| 12,800 3,810 223,010
QI EBITYIIAIAE
5,200,000 1CH 5,200
OAIR4 2+eto| 300, 0002 7} 2,100
OFXI=AD 5,500, 00024 1} 5,500




Al & 0Ol & AFSE Z Ml A
AT 204 ABE| BT BHNAD ~ ESP AT
SH: BET SAMD
I %t JiRe OFSUE TAlEE &4
Chel: S MEEH T4 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SE7 SIALN 7,368,815 7,295,203 73,612
9 JHRE OISL2 SAIEE X4 941,439 967,965 N26,526
e daed &4 864,229 885,638 A21,409
ngss =8 28 5,392 5,392 0
201 fer= 3| 5,392 5,392 0
01 At 2|l 5,392 5,392 0
oNeE 2= M
1,000 *1,000HK 1,000
oHgas a2t 300,000& 122 3,600
OHEZS 28t AKX Si=
66,0002 * 12 792
Ml SEHEI| X 50,005 83,475 A33,470
201 fer=3| 30,205 33,175 2,970
01 AtR2t2|H] 10,565 13,535 22,970
oMDl SESI| Y 10,565
O3 NE(2HE)
35,0003 11 S S*1504 5,775
Ostaat 70,00024x 1174 S 21 S50 3,850
OZAZHIE &S 2D
20,0002 *250H 500
OB =HE2AMN £24&8 Zelf Y
220,000 *2H 440
2 35234l 19,640 19,640 0
OLAIHHIt QIEY SHNBE
36,0003 +252| &+ 123 10,800
oH=E SUHE MEE
70,0002 *1CH* 122 840
CENE RS EE
4,000,000 *25CH +8% 8,000
401 AlEHIZ 201 19,800 19,800
01 Al&H| 19,800 19,800
OZAIDHHIRHDBE) OIH &Y
450,000 *11CH 42 19,800
2 Ea & AP =% 28t 806,392 792,901 13,491
201 et 3| 557,827 489,687 68,140
01 AtR2tc|Hl 43,559 44,801 A1,242
OSHSPA UM NFUAL =&
120,0003 %1 +23] 240
OF+)| SRz (BFSRHUEH, =AHID
Xl) 30,000 =20~ 128 720
O#ABLH SOITRIY AIBE
170,000& 122 2,040
OLSIHAK T DOIAAAL 242
150,000« 12& 1,800
OL-HEAXL CCTV SXZ
58,0002 1CH =12 696




SH: BET SAMD
M 9 RSt OtE0E SAIEE 4
Chel: At MEEHH Xd (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OUEHIIZ tHsal] R1ez3D| EXI
130,000 108} A *4CH 5,200
OUEHYI=2 HESXMEH dMNE EEE
&y 220,000 *74 1,540
OUgHIIE A NEE 100&*30,0000H 3,000
OUEHIIZ CleHY Z2H =22
2,000,000& *12& 24,000
OFaXtE 2HAX 4,500 x32H x35CH 473
OMAI| =HHE AEIA
1002 *5,0000H 500
oMY RBESE EiHA BEXIE
1,000 *2000H 200
OgxI(2Y) HOIE Meldl
360,000& 9 3,150
2 SE=29| 514,268 444,886 69,382
OSEEUE MNES(HAYR)
70,0003« 1CH* 123 840
OUEHEIIZE =HXI PDA AIEE
33,0002 *x2CH* 12& 79
OABLIME AMYS £4B
20,0002 128 240
OF LIS 2HAIAE AIZZ
17,0002 x28CH* 12 5,712
OFAXE 22| 58,340
OFIIBAN =22 35,000 *35CH 1,225
OTEHA =22 (UE)
85,0003 *23[H 1,955
OTELAN =22 (5 - 28)
75,0002 = 12CH 900
OSEEE SIESXHUE)
1,700,000 *23CH 39,100
OZEEE SI2HE - 2 8)
900, 000& * 12CH 10,800
OFAHINA HAED| A =2
1,000,000 *4CH 4,000
OBAXIZ BAWLTES
130,000 *1CH*23] 260
Ot =Ex NSIHAl 50,0002 *2CH 100
OIS SXIHI(3B0) 418,300
OHAIHE - UE) 12,300,000 *33CH 405,900
Ozt (4Ad) 6,200, 0003 *2CH 12,400
OLHEAXD 33L23 21,344
Oo&IIS 450,000& *12& 5,400
Oiot=ER22 1,200,000& * 12& 14,400
odesea 889%*8 £ x2CH* 105 1,494
O&3x HAe= 50,000 *13| 50




SN EHT BAMD
I %t JiRe OFSUE TAlEE &4
ool Nt dEed xd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OLSHEAXD AEEEISXIH
2,000,000 *43] 8,000
Oz=2 AMME2E ds1] R
7,000,000 *10% 700
206 M=l 66,785 56,614 10,171
01 M= HI 66,785 56,614 10,171
CHEAXE JIKHH 25,200
OsYEeAl 280, 0002 +4CH* 157K 16,800
OARIEEA Al 140,000 *4CH* 1504 8,400
OFABE(H S 125)
70,0002 x 125+ 122 10,080
OFAHE 28T £2E
15,0002 ~93& 1,3%
0BATL IZAE 40,0002+ 1001 400
OLPEATID B U MBE
15,0002 *40H 600
OBERH ANESHH 29,110
(OF=1=3= PNF =) 12,0002 <93 +50H 5,580
og&oA3a 1,500 %932 *100H 13,950
o=Zerd 8,000 93 *1H 744
Oo&=2al 7,500 93 *1H 698
Odlel2s 35,000 93 =14 3,255
OLeD x| 25,0002 +03 * 1M 2,325
ogstaz 5,500 x93 *5H 2,558
405 KHoHFSHI 181,780 246,600 64,820
01 L ESFISHI 181,780 246,600 A64,820
OMEHIIZ +=AHXZ(5E)
160,000,000 *1CH 160,000
OFAXE 3ME s
660,000 *33CH 21,780
S HRE EY 2SI SN 2,440 3,870 21,430
201 er2 3| 1,840 1,770 70
01 AtR2telHl 1,840 1,770 70
Ol et 87 HSI| 1,840
Og=% 70,0003 * 1204 840
O&s=E= 1,000 *1,000HK 1,000
206 MH=HI 600 2,100 21,500
01 MHZH| 600 2,100 1,500
0FLBE(UEAS < 29) 600
oy 200&*1,000H 200
Ot 4,000 100K 400
A AT SOl 2tAUE MK 45,278 33,418 11,860
HeEs SSAE 2el 520 900 A380
201 2= 400 800 A400




SH: BET SAMD
M %t JRet OFSUE TAlEE &4
Rl NHESHHel SFUE HO| EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 S5=g4l 400 800 2400
OHYe=s SSAE FA2e
100,000 #4700 A 400
206 MH=H| 120 100 20
01 M=4l 120 100 20
H=S ASHHE W ()
1,200 «100H 120
SEMERES 2 44,758 32,518 12,240
201 Ler23 | 44,758 32,518 12,240
01 At2t2ltl 12,658 12,418 240
OFNERSS AXIA UMY 7,800
oaJl= 1002 +10,0000H*23] 2,000
Oss=2 1002 *29,0000H*22] 5,800
ORIy B0t HIX
70,000 *120H*22] 1,680
OZMERYES 0182 7 3,178
ORE0IH 448 50213002423 0
ONAHE Yotz
80 +36,0004 2,880
SUUSHE 0182 303 +6,00021 180
OXIZBDI ==& 22,0003 *x4E 88
2 s5=34l 32,100 20,100 12,000
OFZNERYZ DIAN & RERS 32,100
OFJl=Z (e 4002%10,0000H =22 8,000
oFIIE(SI) 2,500 *1800H*22] 900
Os&E& (L) 40021%29,00004 =23 23,200
AL 2A=Et 2Ae| 10,812 9,362 1,450
Q== - SAE RA2e 5,812 4,362 1,450
201 Ler23| 5,812 4,362 1,450
01 At2teltl 4,840 2,610 2,230
Odatx HAM HAMSX 2l
80,0003 *152f A 1,200
OFStL HAHZ &
1102 +1,5000H* 123 1,980
Cdgr-g: S22 MH
1,000 *5000H 500
OIIEZaEAE N-ESE LIS 1,160
ogg= 190,000 4 760
Ogest 100,000 4 400
2 s323H| 9r2 1,752 2780
02+ € JIEERL &8 FUE AEE
70,0002« 1CH =122 840
ORelts LI SRS
11,0003 =104~ 123 132




SN BHT SN
M %t JRet OFSUE Al =4
ool BRI eEE B2 (crel: g)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S5 - Zelstad FZ a7 5,000 5,000
206 M=l 5,000 5,000
01 MZH| 5,000 5,000
ogelstdd 223 500,000 * 107 2~ 5,000
BEAHZSE HISAIYE 22l 21,120 39,547 N 18,427
SHLSEL HEHL Al 235 21,120 39,547 N18,427
201 Zet=3h] 17,534 13,990 3,544
01 AtR2t2|HI 14,990 11,470 3,520
OHYRY SHIY| LALAE
50,0002 x25+13] 100
OSH A DAl MKl ¥ HIISXel|
500,000& 22 1,000
OMD HIAsE SHH 248
110,000 x1JH A+ 13RI E 1,430
OEZ2ET HA++E
900,000& %12 900
OHIILI=E AESMF U ===
800,000& x129 A+12] 9,600
OBXNTYR EEE MH(HTH S 28)
1,000& 700 700
OsZ2E=E HEAME 258 L=
90,0003 *7E*2S 1,260
02 S5=24g4l 2,544 2,520 24
OSF=TEHl |XZelt]
200,000 +65 1,200
Od UHEKel JUHE AISE
70,0002 *1CH* 122 840
OetE AXe HEAPC AEZ
20,0003~ 1CH =122 240
O0ISA!l R0It3 =X)| SARS
11,0002 <20« 122 264
206 M=l 2,970 2,970
01 M=4l 2,970 2,970
O=ZIAE 2 WY 220
OPER(414) 1,500 +80H 120
ORelg(14) 100,0003 18 A 100
OUFANR TEE BagS 424 22
40,0002 *207K 800
OFHE=2 YN 1,950
OLeHA, &, 8 S
550,000 x18f A 550
O=EXM 100,000+ 18+ A 100
ogds, 2A0tAd S
200,000 *3H 600
Oetd st 100,000 7 cll 700
301 22N = 616 587 29




SH: BET SAMD
M %1 JRe OFSUE TAlEE =4
ool BAQUSI HIEARE 22 (el mel)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
14 IIEt2 8= 616 587 2
OSHLH=E HEANSY 2SS EE2
il 76,9602 x2H *43] 616
AL == Sy 17,280 16,730 1,550
A 2e| 2at 17,280 15,730 1,550
Pl 2| 6,320 5,980 340
201 Ler23 | 6,320 5,980
01 At22t2lt] 6,320 5,980
OABDEAMAL BIRAA
12031 %125+3,0000H 4,320
OSA2bid 82= M&
1,000 *2,000K 2,000
A NE=EHS 10,960 9,750
201 et 3| 10,960 9,750
01 At22t2l] 10,960 9,750
OSIMXICTE IR Ol
500 *45+1,0000H 2,000
oszEYAE 28 222 WX
1,000 *2,000K 2,000
O3BAIEE &H Ot LH=A BB
== 580,000& »12& 6,960
HYREZH(EG T SF2A4m) 6,410,0%6 6,311,508
el 2| 6,181,472 6,102,344
el2it| 6,181,472 6,102,344
101 2I24H| 6,102,594 6,024,685
03 SRH(RINAHA) 222+ 6,102,594 6,024,685
odsFA 2FY 6,102,594
OoJlzs 2,261,730 +93E ~ 128 2,524,091
Odoi= 1,429,446
A S 2,561,730 «50%+93 & ~42] 476,482
-MEetettl 2,561, 7303 *50%+93 L »62] 714,723
-d2+g 2,561, 7302 x500+93 L »23] 238,241
OF-LIE=! 1,276,622
—S4YURE ALY
90,0002 x93 < 122 100,440
“Sg&dd 70,0002 x93 12& 78,120
“2sEorts 80,0002 x93~ 122 89,280
-EsE 110,400
i< Xt 40,0002 x64H « 12 30,720
- &L 20,0002 x04H « 12 22,560
U PUE 20,0003 x52E * 122 12,480
SMAHA 60,0002 x42H 122 30,240
- AU KHA 100,000 x12&«12& 14,400




SH: BET SAMD
I BPSEAY|(ELT BN
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-Ustd stHIKE =S
500,000& *15H 12 7,500
-E2f= 890,882
]
142,552 x93 x4 x 12 636,353
ORIER Al
9,503 93 x24 L « 12 254,529
OScl=dd| 442,130
==t 140,000 x93 122 156,240
-EEF0HI 2,561,730 «60%+93 & +22] 285,890
O=z4=X 147,480
pea k=l 80,0002 x93 12& 89,280
-Fg=g 50,0003 x93 122 55,800
-a=srg 200,000 x1&~128 2,400
OgitRsRIIre
152,006 x93 «20! 282,825
303 Za= 78,878 77,659 1,219
02 d1ltat0is 78,878 77,659 1,219
OEERA did0=
2,261, 7302 %37 .51+93& 78,878
=238l 228,624 209,164 19,460
JI23Hl 228,624 209,164 19,460
201 et 3| 161,824 183,364 8,460
01 At22t2l] 127,761 124,464 3,297
OJ|=gdRdAH| 500,000 27 H+97% 13,095
OJI=ZHI(S&hl)
8,0003 x27 H+8Lx 122 20,736
osBLN SHzY
8,000 %938 »20! 14,880
Ods=4 U=t| 79,050
oxg= 90,000 93 H+65 50,220
ogset=s 100,000 93 *13] 9,300
O 2 15,0002 93 »23] 2,790
Oetd st 60,0002 x93 *23] 11,160
Oodsat 15,0003 938 »23] 2,790
Oo=9 15,0002 *93E %12 1,3%
Oetd 15,0003 93 *13] 1,395
02 S3=gHl 34,063 28,900 5,163
OESsFA HUESH| 3,848
o=z 30,0002 +93E *13] 2,790
O=gd EE2 - ZXIIRA|
8,500 9512 808
OnyE(MrHER)
30,0003 x2& x13] 60
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I BHSEHY|(EST BN
Chel: J1=2 &l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHgEZRZ (MR HER)
95,0003 x2&*13] 190
CEEE=CEEUNS (=L
150, 0002 x93 2 *30f% 4,185
OBABLE GIZOIXI Y|
500,000 x93 *10% 4,650
oRER=s 20,500
ogegt 4003 *20,0004 8,000
OSII 2,500 +5,0004 12,500
O&T= AR RX2teldl
5,500, 0002 *2CH*8% 880
202 04l 45,600 45,600
01 2LHoIH 19,200 19,200
OJl=2Z24| 20,0003 x 16262 * 12 19,200
02 A0 26,400 26,400 0
O©JI=&H| 200,000« 11H =122 26,400
203 =4l 10,200 10,200
M FA2HHIFII 10,200 10,200
OJ|=H 10,200
O302!0lat 400,000 123 4,800
O30Q! =1t 5,0003+0& * 12 5,400
405 KHoHF S| 11,000 11,000
01 ML ESFSHI 11,000 11,000
OB A=A 5,500,000 =2CH 11,000




E 0 & AHE E A A

et JP;%%‘ B
(EotS FX2tel (SH9 H2)
LA BRAE) - RN - BAS of v e HIDE2
i 13,205,587 10,724,429 2,481,158
= 150,000
== 135,000
Al 12,920,587
2gd x4 3,876,849 3,877,482 AB33
t2 . 22tS |2 3,876,849 3,877,482 A633
SES &4 & WA 1,071,343 1,184,248 A112,905
1T AIE2HIZL 20 1,071,343 1,184,248 A112,905
1 Al 1,067,500 1,180,000 A112,500
O=ots A&l 1,500,0002 * 1500 2~ 225,000
Ok= JIZ2S LED WAl
1,000,000 *200H 2= 200,000
o=% J2S 2XE DA
7,500,000 * 1500 £ 112,500
OWdg8a HY=S <e LEDEHS WA
1,000, 0002 *1009H £ 100,000
O2z=&2d LEDJI2S Al & &X
1,000,000 *4007H 2= 400,000
O=ls HAOHIELH LEDIIZ2S EXISA
6,000,000 *57H 2~ 30,000
03 AIZ2THYI 3,843 4,248 A405
OJt2Hots A4 & Wi
1,067,500,000& *0. 36% 3,843
IIZ2E0HS el 2,805,506 2,693,234 112,272
201 =3 2,184,466 2,191,786 AT7,320
01 At22t2l] 20,866 28,186 AT7,320
OJt2S &dI|&H| AHEE =5 20,366
o=dg 48,4903 *4200H 2~ 20,366
OJtZ - 2ot 24 YKL LI=t| 500
oxg=s 90,0003 ~2H 180
Oogst=s 100,000& 2 200
Oetd gt 60,0003 2 120
2 35234l 2,163,600 2,163,600 0
Otz - 2e¢ts &JIes 2,142,000
otzs 210,000 *6007H A * 12 1,512,000
O=ets 7,500& 700001 2+ 12 630,000
oJtzs Zgs 32| SHes
3,000&+600JH 2=x 123 21,600
206 MH=Hl 167,800 169,000 8,800
01 MZH| 167,800 159,000 8,800
o=ots HE)| 100,000 *3507H 35,000
orzsggs 2|
1,800,000 *107H 18,000
ONYUEE I 2600 29,000 200K 5,800




SH: BED AL
M YN II2BY T4
Chelr Ji2 . 2ots |AlZel EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ONYLIES 1| 250
53,0002 *200H 10,600
OLEDE I 80N 100,000 *450H 45,000
OLED SI1+ 500 360,000 *30K 10,800
OLED SI1+ 70N 420,0002 *300H 12,600
OLED SJI+ 150W 600, 0002 *50H 30,000
401 AIEHIX SO 453,240 342,448 110,792
01 Al&H| 450,000 340,000 110,000
OzEots R+ 450,000,000 450,000
03 AlESTHYI 3,240 2,448 92
QIIz2ots 24 =M
450,000,000& %0.72% 3,240
ANSmegd et TADIBtEd 6,877,424 5,318,304 1,569,120
= 90,000
Al 6,767,424
CE12m02te] SAIHEEZ JHE 1,432,136 867,509 564,627
C2IIEAE EE X 29,566 27,889 1,677
201 fer=3| 29,566 27,889 1,677
01 AtR2t2|HI 23,981 23,283 698
OZAIH=BH MEE 4,286
O=AEX 21,0002 x5&f Xt 12 1,260
OZegH &4 220,00034 % 10H 2,200
Osll 223 646
-3 66,5002 * 1CH*43] 266
- 95,0002 *4H 380
OEXOISHRHAAMZ A FO!
302 +5000 122 180
OFANAHEEZ BASHEY S8 8,655
Oslgseg++g 250,000& 152 X 3,750
O2gsgs+8 250,000 x 152 X| 3,750
OSJl==& 77,0003 152 X| 1,155
Ofedle, =238 SETAL X AEEH
S Xyt 920,000 «1CH*12& 11,040
02 S3=gHl 5,585 4,606 979
OXtg ==l 1,939& %12 £ 240 5,585
Il E=2EYEN 24 378,490 105,620 272,870
401 Al HIZL S 0HYI 378,490 105,620 272,870
01 Al&HI 378,490 105,620 272,870
OJ =2 HYEAEY 378,490
OEXIHHI 100,000,000& 100,000
OLss 2582l 63-1 S 214 224
270,000,000& 270,000
OoA& ==& 8,490
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St ==12m0I2te] TAIHEEZ W EER=E)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
AREIAE
200,000& 27| 2% 102 X| 4,000
S EEsrE 372,000& 102 X| 3,720
S0l 2 77,0002 x 10 X| 770
QPE =2 TAHEERZ 2 1A HEZ2AHA3-1341/ 250,000 0 250,000
=230m, B=6.0m)
401 A& H|I L E0HY] 250,000 250,000
01 Al&HI 250,000 250,000
O2AH| & A 250,000,000& 250,000
;‘Z—E"% CSAIHEEZ NS S AHA2-346 / 1=85m, B=8.0m 350,000 10,000 340,000
401 AIEHIZLE0HY] 350,000 10,000 340,000
01 Al&H| 350,000 10,000 340,000
OB AH| 350,000,000 350,000
22U 22 SAIHE S 200 (A2-1344) 1=125m(B=8) 351,080 250,000 101,080
401 AlEH|IZL L2 C0HY] 351,080 250,000 101,080
01 Al&HI 350,000 250,000 100,000
OZAHd| 350,000,000& 350,000
03 A& 2 0HHI 1,080 0 1,080
OAIE 20| 150,000,000 *0.72% 1,080
HE CAHEE2 HEZAHA2-1552) 45,000 45,000
401 AIEHIL 204 45,000 45,000
01 Al&H| 45,000 45,000
OA AN A& H =SS 45,000,000& 45,000
2L AFRL ~ A3 SAIHE 2 (A3213)HE ZAl 28,000 0 28,000
401 AlEH|IZL L C0HY] 28,000 28,000
01 Al&HI 28,000 28,000
OA A HEH| 28,000,000& 28,000
c22e 5,445,288 4,450,795 994,493
& 90,000
Al 5,355,288
TZ2dH| & |2 2,749,118 2,415,886 333,232
101 2124d| 2,712 2,596 116
04 JI12tNI2E2XsSE 2,712 2,596 116
ONEE XAt 2,712
(@ISIR=-3e] 82, 1003 x6H *5IH A 2,463
O2tA| 3,000& *6H *5 1 A +23| 180
O4UEE D182 69
-IERE 2,463,000 *1.75% 44
M EE 2,463,000 * 1% 25
201 LE2AHH| 64,624 61,930 2,694
01 AFR2telt| 32,836 31,029 1,807
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SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OL2&H EHE 225 3,438
OZeHe &Y 220,000 =123 2,640
OZele 23 66,5002 * 122 798
O&Hl Xtz 14,300
O&zH 21283 H| 14,300
=40 600,000 +1CH* 13 7,800
-gxxt 500,000 *1CH* 13 6,500
OSEHZZ(EST) HUI0IE
600,000 *2H 1,200
ORXdxt= 4,723
Osds 26181K A=
4, 7502+ 128 57
OLES Satel 597-481K A=
11,4002+ 128 137
OoZUu g=el 106HA L =2l 108-12H K]
A=z 40,850 x12& 491
OZNS &51-281X S NEX ==X At
(=1=1 237,500 =123 2,850
Ot E 14681K A=
99,000+ 128 1,188
O3F A2 9,175
Ozgsegdr3 344,000 =102 X 3,440
OZAHEE =R 526,000& 102 X 5,260
O3sMat2e] ANEXE HE
47,5002 * 1001 475
02 2324l 31,788 30,901 887
O 22| CCTvald AFEZ2(FESH CCTV)
1,650,000& *12& 19,800
OZMNZ=Ss W WSZEBAIAE HEXIE M|
2 30,0002+ 12& 360
OE2FHIEH #=4l 1,939& *200L 388
O==2FH|&EH| ==cltl 250,0002 65 1,500
OZZ2J|st AARA HERIH|
1,344 x20L 90 2,420
O=4 MEED MIIMNEZ
300,000& =123 3,600
O=s4A MEED & MES
80,0003 *12& 960
O34 MEED 2o12d|
120,000&x 123 1,440
OXEE NSEAX ZLIHE MHIA SMZ2
110,000« 12& 1,320
206 =4l 63,700 63,700
01 M=l 63,700 63,700
OxY T2E+F XM 63,000,000 63,000
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700,000 700
305 =S 10,000 10,000
01 =S 10,000 10,000
OZZAIE AtLDZH =
500, 000& »202] 10,000
401 AIEHIZ R 0HYI 2,608,082 2,277,660 330,422
01 Al&HI 2,604,086 2,271,675 332,411
OkZ ¥ E2AN4dE RAES 2,510,000
OOtAZE A2 350,000,000 350,000
OXhd =24 50,000,000 50,000
OEx & 3 2=
150,000,000 150,000
OF 2OHF Al 24
150,000,000 150,000
OFeczd Mz 300,000,000& 300,000
ooglol25+4 £ FAEx
100,000,000 100,000
OEZHHEX] 50,000,000 50,000
O2ERAES 1,110,000,000& 1,110,000
SZAE 2= &=
250,000,000 250,000
OT=ZHHIAIE &AIZAHI
1,110,000,000& %3.71% 41,181
OANE & SHEER S IIN=S8X B&=3 52,905
OEXIHHI 50,000,000& 50,000
A8 =& 2,905
S8
200,000 +204 I 222 X| 800
—2gEgrr= 344,000 x52 X| 1,720
SI0l&+=+2 77,0003 *5& X 385
03 AIZ 2 THYI 3,99% 5,985 1,989
O=28Hl € RALZ+AY
1,110,000, 000& *0.36% 3,99%
FOI=RAY 1,487,424 821,8% 665,528
401 AIEHIZ SR 0HYI 1,487,424 821,8% 665,528
01 Al&HI 1,482,676 816,950 665,726
O US 4Bl 2 ZZ AHL=500m)
85,000,000 85,000
OsE1S AL SIS AHL=230m)
40,000,000 40,000
OtlEss 2 S2HHIZAHL=540m)
90,000,000 90,000
O0&8S 125681 2= HHIS AHL=470m)
95,000,000 95,000
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Odlgz122¢3 B=FH|ZAHL=200m)
50,000,000& 50,000
02& B=2| OtAZEZEZAHL=600m)
125,000,000 125,000
Ol Ee1el 142-78R L@ SZ2EHSAHL
=190m) 40,000,000 40,000
OM=E=z220812 =2 FH|ZAHL=380m)
80,000,000& 80,000
OOIMZ 179812 L@ =2FHISAHL=160m)
80,000,000& 80,000
O=g1s L2 S=2FHISAHL=870m)
140,000,000 140,000
O=Us5156H X2l 1A S=HHIZAHL=165m
) 30,000,000& 30,000
OZ4E XHE=EHE(L=490m) 400,000,000 400,000
OFBTERAIMLY HTHHIZA
18,750,000 18,750
O=US N77THXI(SU2XIOIIIE )EE §
] 30,000,000& 30,000
Ox72 FLU=JAAS(EH)
130,000,000 130,000
O=FQU=HAY AAIEAHI
1,318,750,000& %3.71% 48,926
03 Al 20HHI 4,748 4,946 A198
OF0I=JAA 1,318,750,000& +0.36% 4,748
weg A A= RA2c 1,118,746 1,213,013 N4, 267
201 er23| 201,701 193,363 8,338
01 AtR2t2|HI 25,501 17,163 8,338
O3S A MAH
30,0002 7 & +63] 1,260
O&EAZZ I (EST)HUI0IE
600,0002 %12 600
OXMJItHZEIUSY =2 23,641
OZZ XI5t < (864KN) 870,2108x 122 10,443
O & XIGHR < (68KN) 134,310&x 122 1,612
OX&HI0I2E 2 AKIGHRE S (412kW)
283,4703 * 122 3,402
O DHAE < (45kw) 101,750~ 12& 1,221
OFEIDI'Z XI5 X+ (650kw)
580,250 x 12 6,963
02 S3=gHl 176,200 176,200 0
OCClvald & Selgld AlE= 24,000
OXIBHRIE L BEE SMR
1,450,000& «12& 17,400
O=s1 s8] Stz 550,000 * 12 6,600
oNIIR3 112,200
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXIBHAtE Ol & HE 1A
6.,700,000&  12& 80,400
O A (SM,F, 25 FF9, 2U)
1,400,000« 128 16,800
SF, A2 HAEIR
500,000 * 122 6.000
O ZREY(U=D, sI=0D, 0153
w,S4HD) 750,000 * 122 9,000
OsdJ| =Al2ell 40,000
Osdll 88 =8
160,000& 107412l 1,600
0227 HEBR Y SNLLEH 242
220,000 *10CH* 122 26,400
Osd)| EAEY =8
100,000 «10CH* 122 12,000
401 Al HIZ S 0HbI 917,045 1,019,650 102,605
01 AlZ8| 91,677 1,013,665 101,988
OAng L JIEES FIIANEHES
25,000,0002 25,000
oug & ANEE A2
440,000,000& 440,000
Osttsw M=F0I1S 2+3A
42,000,000& 42,000
Olisw E=E2L3At 70,000,000& 70,000
OEEIZRN ExE2ATA
70,000,000 70,000
Ollsdw M=0IS 2+3A
230,000,000 230,000
oug % ANdE |AZ+ AAEAHYI
852,000,000& *4.07% 34,677
03 Al 20HHI 5,368 5,985 AB17
oug & ANdE FAE+
852,000,000& *0.63% 5,368
HESEAIE HEAE 90,000 0 90,000
= 90,000
401 AlEHIZL SO 90,000 0 90,000
= 90,000
01 A28l 90,000 0 90,000
Os8s 34 FHISAHL=25m)
50,000,000 50,000
[ 50,000
O=2s s2EEIAHL=270m)
40,000,000 40,000
< 40,000
- Mool Mg 2 1,408,826 825,073 583,753
150,000

Mo

45,000
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Al 1,213,826
THEE - XHoll Ol 451,130 144,738 306,392
= 150,000
= 45,000
Al 256,130
THEE 2 THoH 2tel 161,130 144,738 6,392
201 er2 3| 72,130 65,738 6,392
01 AtR2telHl 210 210 0
ONt2te 82 s+ 70,0002 *3H 210
02 S3=gHl 71,920 65,528 6,392
OF==EMEXOI2+=2 S 6iA) 10,440
Osties 45,0003 61 A% 122 3,240
oNIIR3 100,000 64 2+ 123 7,200
OM&ZZH 22 (EH 1d0IH)
200,0003 +69CH 13,800
O=oll XS 4| = 1,000,000 1,000
OE=H K= 100,000 +69CH *32] 20,700
ON&ZH| ==cldl 15,000,000& 15,000
OMN&dHl 77l
1,830 *20L*10CH*30=] 10,980
206 M=H| 5,000 5,000
01 M= HI 5,000 5,000
OMOHCHEE XHH(EDIH S 95)
5,000,000 5,000
401 Al HIZL 01| 74,000 74,000
01 Al&H| 74,000 74,000
Otf=BLE RXI2H|
9,000,000 *6IH 2= 54,000
OR=Al |2 20,000,000 20,000
W oteEZ MYXAIE EXSA 150,000 0 150,000
= 75,000
= 22,500
Al 52,500
401 Al HIZ S 0HbI 150,000 0 150,000
= 75,000
= 22,500
Al 52,500
01 Al&H| 150,000 0 150,000
OZX&W oteE2 MNYXHAIE EXSA
150,000,000 150,000
= 75,000
= 22,500
Al 52,500
SAE W oleE2 MAXHAIE EXSA 150,000 0 150,000
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= 75,000
=S 22,500
Al 52,500
401 Al HIZ R 0HbI 150,000 0 150,000
= 75,000
= 22,500
Al 52,500
01 AlZH| 150,000 0 150,000
O=2YEu otat2 MYXHAIE EXISA
150,000,000 150,000
= 75,000
= 22,500
Al 52,500
[SIESPAR=I) Fal 957,696 680,335 217,361
ot FHl & FXl2el 807,696 416,985 390,711
201 fer=3| 34,100 28,411 5,689
01 At 22|l 28,515 23,805 4,710
Ootd =4 & =2 ZH| ZHISX= 17,000
O=247| 600,000 «2CH 10! 12,000
og=xt 500,000 1CH* 10 5,000
Ootd dIFXNE e gx=
920,000 «1CH*12& 11,040
Ootd Wl SEEE =X EX=
95,0002 504 A 475
2 352484l 5,585 4,606 979
Oxtg ==l 1,939& *12L+240! 5,585
401 AIEHIX SO 773,5%6 388,574 385,022
01 AlZH| 768,934 385,910 383,024
OotdE =Al2el 520,000
Odtd &H| 350,000,000 350,000
ON= & ==HIA 150,000,000 150,000
lefi=oiaE MA 20,000,000 20,000
OHEAotd oS SAt
70,000,000 70,000
OB A0IE =TT SA
60,000,000 60,000
OxHaotd oSS A
90,000,000 90,000
Oodtd FAlZcIAt A AIE A
740,000,000&*3.91% 28,934
03 AlZ = THHI 4,662 2,664 1,998
Odte =X2elAd
740,000, 000& %0.63% 4,662
H&EEHl & |2+ 150,000 0 150,000
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 150,000 150,000
01 Al&H| 150,000 150,000
OAMH EHl &€ |2 150,000, 0002 150,000
Sh=2te] 585,577 319,976 265,601
ot & Klote 252 585,577 319,976 265,601
Kot A= 2t 32,860 53,060 A20,200
201 223 1,860 21,060 219,200
2 35244l 1,860 17,640 A15,780
OXlots 2Xx 2522 SHR=
5,000 %3101 A 123 1,860
401 Al HIZ S 0HbI 31,000 32,000 A1,000
01 Al&H| 31,000 32,000 1,000
OXlots 2X2=5Y |8 H
500, 0002 317 A*23] 31,000
Bi=AlE EHl & =A2el 552,717 266,916 285,801
201 et 3| 21,860 0 21,860
01 At22t2l] 3,100 0 3,100
OEAZZ I (EST)HUI0IE
600, 0002 *1H 600
Obi%2 ha =X AN (HEA)
2,500,000& 2,500
02 S3=gHl 18,760 0 18,760
OAMEZFN Q+-EIY SHRLS
220,000& 128 2,640
OMEFL Q+88F M)R=
60,0002« 12& 720
OAHFLAIL ®II23
15,0003 x280H 2+ 123 5,040
O FMzAIE Z2HUABI
370,000 »287H 2 10,360
401 Al HIZL S 0HYI 530,857 266,916 263,941
01 Al&HI 527,675 265,094 262,581
OOltSot== gl & FXl2cl
350,000,000 360,000
Os%s =2 ZJHISA
20,000,000 20,000
OF%s =2 JHISAH
20,000,000 20,000
OF&S 0BHA €& Hi+=Z HUISAH
35,000,000& 35,000
OXE=Z =2t JHISA
80,000,000 80,000
Obii==AlE HHIAIE &AL
505,000,000 *4.49% 22,675
03 Al 20HHI 3,182 1,822 1,360
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Obi==AlE &EHl & |X2¢cl
505,000,000& *0.63% 3,182
AH2LIHI(EE 7 HED) 456,911 383,594 73,317
el 363,363 290,048 73,315
el24d| 363,363 290,048 73,315
101 e124d| 363,363 285,248 78,115
03 SR (RINHA) 222+ 363,363 285,248 78,115
ocz=2+¥ 363,363
Oe=E0s) 183,991
-14E Xt 2,884,830« 1H« 122 34,618
-1&Ext 2,717,103 x18~ 128 32,606
-8E Xt 2,549,410 x28«12& 61,186
A=PN 2,493, 2503 < 1H« 1228 29,919
-34 Xt 2,138,403« 1H« 122 25,662
(OES 142,345
-EsE 7,200
HH <> At 40,0002 x3& * 122 1,440
&l 20,0002 x2&* 122 480
S 20,0008 +x3&* 122 720
=M 60,0003 »3& * 122 2,160
| 100,000 x2& * 122 2,400
-gEag 100,000&«1&+12& 1,200
-E2€012) 13,061
143 Xt 20, 1703« 1 *10A1 2+ 123 2,421
IRISDN; 19,0802 x1&*10AI 2t 122 2,290
8E Xt 18,000 x2& *10AI 2H= 123 4,320
TARH(EHY)
18,2502 x 1 *10A1 2t 123 2,190
- 3E Xt 15,3302 x 1 *10A1 2t 123 1,840
-AIRQl=EH(E= 0 69,653
14Xt 20,1702« 1 +BA| 280 12,909
T 19,0802+ 12 +BA| 2H+80& 12,212
8E Xt 18,0002 x2& *8A| 2++80L 23,040
7TAXHEHY)
18,2502« 1 +BA| 2H+80& 11,680
- 34xt 15,3302« 1 +BA| 2H+80& 9,812
-opt2esg 34,830
14Xt 26,9003 1 +BA| 2hx30 6,45
i=by; 25,4403 *1H+BA| 230 6,106
8&E Xt 24,0002 x2S +BA| 2++30& 11,520
TARH(EHY)
24, 3403 1H+BA| 2hx30 5,842
- 3 Xt 20,4402 = 1H+BA| 2030 4,906
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&g 50,0002 6 12& 3,600
e+ 50,0002 x6H*12& 3,600
2aag 9,201
143 Xt 144,240+ 1B + 128 1,731
11E Xt 135,820 x 19+ 12 1,630
8& Xt 127, 4702 2H 128 3,060
VASA; 124,660 x1H 122 1,496
- 3@ Xt 106,920 x1F + 122 1,284
OYE IOt 15,335
-14EXt 1,442, 4103 x1H +23] 2,885
-Ext 1,358,550@ 1 *23] 2,718
-84 xt 1,274, 7003 2 Z +23| 5,099
7 EAXHEHE) 1,246,620 *1E +23] 2,494
=34 Xt 1,069, 240& x1H +23] 2,139
OH I AtH| 11,612
-144xt 107,600 *1H 20 2,152
-Ext 101,760 *1H 20 2,036
-8AXt 96,0003 x2H 20 3,840
~TAXH(BHE) 97,3603 * 1820 1,948
=34 Xt 81,7903 x 1820 1,636
OZAHZ A 140,000 x6 % * 123 10,080
234 93,548 93,546 2
J|=2Z&| 93,548 93,546 2
201 Ler23H| 55,988 54,786 1,202
01 At 22|l 41,488 40,786 702
QJ|l2g R 500,000 *26H 13,000
OJ|EZH|(S=4l)
8,000 x26H +8 « 12& 19,968
OsA| EH 260,000 *6H 1,560
O3RH(RI1H <)
8,000 x6Hx110&! 5,280
O3 (RI1H) 1,680
oxg= 90,0002 6 540
Ogst= 100,0002+6Z 600
Oot& st 60,0003 6% 360
O&st 15,0003 x6H 0
O 15,000 3«6 0
02 32| 14,500 14,000 500
O33R (RI1HYL) 2AXI=HI
500,000& x6H 3,000
oRERI 11,500
oget 400& *10,000= 4,000
O32I 2,500&+3,0008 7,500
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202 04| 32,400 33,600 A1,200
01 =LHAHI 27,600 28,800 1,200
OJ|1=&H| 20,0003 +x23F 52«12 27,600
02 M0 4,800 4,800 0
OANEZX 200,000 «2H = 12& 4,800
203 BRI 5,160 5,160
04 PAE2EERFAH 5,160 5,160
oJlEA 5,160
(O3021015t 400,000& * 12 4,800
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SN EBHP A=
M AZHE A5
el SEER NEHS (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OB (ORISEES) 36,0002 +20H 70
OFHI0IZ 5,000& *50H 250
OgZ x| 15,000 +50H 75
HYRHPH(EG T A=) 94,124 84,274 9,850
Jl=3H| 94,124 84,274 9,850
Jl=23H] 94,124 84,274 9,850
201 Ler23| 42,424 38,774 3,650
01 At2teltl 31,700 28,050 3,650
OJlzg 83| 500,000& x25& 12,500
QJI=ZLI(S2)
8,000 x25H 82 * 12 19,200
2 S52g4l 10,724 10,724 0
oRERs 9,660
Ooggt 4003 x4505+12& 2,160
OSJI 2,500 x2508 122 7,500
O™YIH A= EHl = 1,064
Oels7l 2,300,000 *1CH*8% 184
OB K= A 5,500,000 «2CH 8% 880
202 04l 42,000 40,800 1,200
01 =LHAHI 18,000 19,200 1,200
OJ1=2Z24| 20,0002 x 15262 x 122 18,000
02 A0 24,000 21,600 2,400
OYANEZX 200,000 x10& 128 24,000
203 =] 4,200 4,200
M FA2HARFAI 4,200 4,200
©J1EZHI(25210151) 350,000 * 122 4,200
405 AHaHE = 5,500 500 5,000
01 It =S F=H 5,500 500 5,000
OHX= AP 5,500,000 *1CH 5,500




